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1.
If the price of a product decreases due to a decrease in demand, then

A) the firm moves to the left along the labor demand curve.

B) the firm moves to the right along the labor demand curve.

C) the labor demand curve shifts to the left.

D) the labor demand curve shifts to the right.

ANS: C
2. If a single small firm's demand for secretaries increases, then

A) its wage rate will increase and its employment level will remain the same.

B) its wage rate will increase and its employment level will increase.

C) its wage rate will remain the same and its employment level will increase.

D) both its wage rate and its employment level will remain the same.

ANS: C

